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Name: Date:
Algebraic Properi Properes of Equallly
idenify the property of equaly:

Properies of Equality Property Example(s)

Addion Property of Equaify | Ifa=b,thena+c=brc. =3 X+4=3+Y v COMW\. PO, mU'+-

ssbron TR o | g mona- a6 Kel0 X-b=10-b PRI R ASSO P.O mUH-‘
ptpictoneronoty ot | oon menccsbe (K23 dX: (R | . o[t Dig . profardy

Divison Properly of Equaify |  fra=b,thena/e=bie | Y=Y i.{ = g- PR RVEvErEIY) C
B fric Properly of - om. {0 / Y&
ity tasomeno-a | X=3  B=X 5 [sea=Ba AssoPoMult
Transilive Properly of Equaily | Ifa=b and b= c, lhen a = ¢ x-f’ \d;lf X=y < .

Fasemenati-bot | ) Do Equal.

Fropeies of Operafions and - - AEEa
Idenities perty ample(s) C P
.0.Ad
e —r e 339-9f3 om., d
Addiion = [y By

Commitae Fopor of oba b-9:=40 Ot§© Poq({((

AROCRIEEI | oo arere | ) H630)= (AR 7 |fasemenadse-s Sub A Bl
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e | awacewe |- (3D<(-313 N PRy
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Properties of Equality Practice Name: 5.
Period: Equation step
For each problem, complete the fable by filing in the missing equation or step. 2n+5)=2 Original cquation
1
Equation Step
Sx+12-18 Original Equation n=-6
=6 sublraction property of equality
x=2 3
Equation step
2 7y-84=2y 161 Original Equation
Equation Step
3+5-17 Original Equation
sublraction property of equality y=2
k=4 Division properly of equalily
7.
5 Equafion step
Equati B2 x
quation P %5 -z Original Equation
3[5x-1) = 13x+5 Original Equation
165¢-3=13¢+ 5 x-7
2%-3-5 subfraction property of equality
x=8 8.
x=4 Equation step
212-1) = 4[x+ 2) Original Equation
4
Equation step
Original equation
_1
*=2

subfraction property of equality
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GSE Algebra | Unit 24 Practice GSE Algebra | Unit 2A Practice
Propertios of Fqualiies
4.
Ity the propety o equcky 1ot sl ecch g e of eauollon  eoch f e Equation Steps
, 1.3(5x +1)=13x+5 Given
Equation Steps 2.
1.3x+12=8x-18 Given 3.
277 105 Sultr PO €qu 4
3. oy Addition Property of Equality S,
4 =x Division PQ Cqou 5
Equation Steps
1.7y—-84=2y+ 61 Given
2. 2.
Equation Steps 3.
1.3k+5=17 Given 4
2. 3k=12
3. Division Property of Equality 6.
Equatio Steps
1.4(§n+7)-3n=5’(4n-9) Given
2. 200+33-3n=12n-33 Diskr Prop
3. 3.7 130 +%7 =)3h-23] Combining [iKe term
Equation Steps 4. ™" 5n4a5=-23 Subt PO
1.-6a-5=-95 Given 5. Sy -58 Subk PO €qn
2. 6 e Div. PO fci;’n
3. \

Jan 10-11:14 AM Jan 10-11:16 AM



wk3 alg 1st.notebook January 18, 2019

S8 Algebra 1 Name
January 17, 2019, Thursday Properties Quick Check Block Date.

For 110, Matchth ollowing property with s example.

1 Commutative ropertyof Additon w600

2. Commutative Property of Multiplication B6+(5+1)=(615)+1

3. Associative Property of Addition it

4. Associative Property of Multiplication D.3(2x 1 8) =6x 1 24

: : : 5 Distrbuive Propery £101 (10 =0
List 3 algebraic properties and an example for each.

6 Addiive denity Property R78=67

7. Multiplicative Identity Property G.81=8

5 Addiive verseProperty oG-

9. Multiplicative Inverse Property 1L9+0=9

10 Mulilicatve roperty ofZero Jatm6ra
For 1112, 5 e
cacof theable bl
u

Stement Reason
T s =i 10 Given
22c18=10
=2 Subtration Property of aualty
pre
»
atement Reason
1. 4(2x +1)= 2x +28 Given
" Distributive Property

Sexrasm
4. Subtraction Property of Equality
e Diision Property
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Literal Equations and Dimensional Analysis Task Literal Equations and Dimensional Analysis Task

1 The area of a riangle s found using the formula A= 411

~ 1. Th ara of  risnle i found using the formula 4=
ZW“& bh Find he e ofa gl with g M,hmmm b A= ;m‘) q }

a. Find the area of a riangle with a height of Gem and a base of 3cm.

b olvethe aren formula for b, . Solve the ara formula forb.
2= ?

'2;\— b o e e i 2A. -b o Findthe i and
‘_A )
S5 = 2. The formula d = r tells the distance trayeled at a Eiven e and tns. 2. The formula d = 7t tells the distance traveled at  given rate and fime.
2 g l(lA] b

& Solve the squation for 1. ¢ =t == '} . Solve the cquation for £

10 -~

b, Determine how long it will take an mmlane o m? 2,000 miles if it les: b, twill toks les ifit £

. 200 miles per hour 200 miles per hour

s i 400 mils phour = 6, 10 -t

vz
i 600 miles pertous = 3, 7 ‘
. The formnlaforthe ernetes of  package . = 2L+ 2. where L i e length aud W i the

3. The formula for the perimeter of a package is 2 = 2L + 2W, where L s the length and ¥ i the
width, Aw v width,

o Soheths formis kg, 7 py AL ZW L " ol the o for et

b. What is the length of a package that hxé:xmmr 0f 22 cmand a M c...v S) l, b. What is the length of a package that has a perimeter of 22 cm and a width of § cm?

| ¢ thetomuias=z b @m. s woe Y= | 4. The formula = L~ shows the rlstionsip among the al price,th it pice L, and the
< plseouat e ~rlL s - discount rate 7.

L « soe i) L= ¥ s = r o Solve forr

5. Use th o formul to i the isognt e as ademmal and as a percent.

ii. 400 miles per hour

i, 600 miles per hour

. o Usethe e d decinal and
i. Sale price e 40 s s omo zr =~ 5 i Sale price of $40 and lst price of $50.
i s prs o2 ez, 102210, 1 2 ;éo P —,
5 Thevolume of a bos ¥ is gven by he formula ¥ 40K 5 Thevolume of abos ¥ i iven by he formula /= b
™
. Solve the ormla for . Solve the ormala for
AN
o Wb it gt of b i+l of 0 i ot g of 1 e, and . Whatisth beight of b it voue f 0 meers g of 10 meters aud
i of 2 metes? e o010

width of 2 meters?

B <h
: (osm
7=k
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GSE Algebra | Unit 24 Practice GSE Algebra | Unit 24 Practice

Rewite each equation in ferms of the Indicated (Lefter).
) Solving for Missing Variable |
o) y=e I 0o [undo i
N . ) s w
KE 2
= 0-Y
Praclice Problena
Rewrite each equation inferms of the indicated (Lefter).
B E=mc 8 20esy=30 @
® H W) W
?
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5 4= o ©  yomstb
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1) Solve:y=mx+b forb

y=mxtb

Jan 10-11:23 AM

Biope in \’Etcep’c form: u=mx+b
m=glope= rlse b=y- \n'\'{rcc'p* where
Agebs 1 on nne Ehe Qraphcro ssesdie
Spe et Form i VALY
UIXED oy they nterept and ) g A{
1y y=ixis 25
mm 2 Lrise
isr b %\/ Yo Asr

2
3Hy=-2xi2
”és +

e

Find the s) sl

yintercept, and c) the equation of each line below.
7 9

b

x|

pid

2 slope s _2 2 sope s o dopeis =1
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V=X
For cailcquaton, 10culty e Sope and y ntrcept.

10y~ 5x+8 1)y-x-9 asacy By 3x

5.8 o= 20

anaton e stopemerca form. Y = mx+b

15)3x+6y=12 16)20x -y =60 g
=X

=1
18)8x = 16 +2y 19) 5x = 10 - Sy,

‘Write cach equation in slope intercept form. Then graj

2)2m+ay=-6 23) 3x-2y

4 2) 2x-y=4

Jan 10-11:25 AM

Jan 17-12:59 PM

Name
Creating Linear Equations In Two Variables

LA charges a 33 1o its mefer which & §2 for every mile.

2 Tno restourantis having o special foightn which you can 0@t ik for §2.50 and then
purchase some wings for $.30

3. Agear on amachine lums al arale of 2 revolutions per second,

4.The carpenter s golng fo buI frls new house for Habitat for Fumaniy. The carpenter quoted a
price of $125,000 for e suppies and fhen for a discounted price, his houry rafe would be $5 per
hour.

5. Acab company charges an Inffial rate of $2.50 for a ide, pius $0.40 for each mlle diven.

6. o ceidy salary of $300 plus of $50 for each vacuum he
sell,

7. Awater company charges a monihly fee of $6.70 plus a usage fee of §2.60 per 1,000 gallons
a.

8 Moddie borowed 1,250 from a fiend fo buy a new TV. Her fiend doesn't charge any inferes',
and Maddie makes $40 paymens each monih

9. You and some friends cre hiking the Appalachian Trail. You staried out with 70 pounds of food
for the group, and eat about 8 pounds each day.

10. The Irash company is charging $17 per monih and $25 frash can renlol fee.
1. Juan paid $20 per pants and a shirt for $25.
12. M. Koller's Rentals ren! @ Cadillac Escalade for $99 for one week pius $0.11 per mile.

13, We went looking af different cell phone packages. Package A has a base rate of $39.95 and
Wil Gost 0,17 per minute.

14, Kim ond Cyndi are slarling o business Iuloring studenis in math. They ren an oflice for $400 per
month and charge $40 per hour per studert.

Applications of Standard to Slope Intercept Form.

1 !enmfu o jobs after school
g money aud o belppyfor b ition. At Job X, she gets 55 o, sud b Y, she gt S10
ot T enn o vorks bt Too X and Tob ¥ duri th weck,

a for her total income for working x hours at Job X and  hours at Job Y.

b. Fow much will she make if she works 10 hours at each job during the week?

jo
this situation.
5
. Rewrite your equation in slope-intercept form, then graph. | /|
. Find three different combinations of hours worked at each
job that will allow Jennifer to earm S100.
IEERAEL
2 Youare Thistle seed
fnches ad sost 52 per pound. attracts many kinds of sunbirds and

costs $1.50 per pound.

thistle seed, x, and $1.50 dark
oil sunflower sced, y, that you could buy.

b. Graph the line representing the possible
seed mixtures.

. List three possible combinations of seed mixtures.
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